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1. The Wholey Super-Structure, The Entireties,           

1 1 1, Are The Whole Time 1 

 
 

2. Infinit-E every moment 

 

 

3. 1 in 1 odds being (existing), The Whole Time, 1 

 

 

4. Frequency of occurrence 1.00 

The Whole Time ever being (existent) is  

 

 

5. The Whole Time, 1, is being 100% The Whole 

Time (never-not being) 

 

 

6. The Greatest Common Factor, The Whole Time 

is 1.  

 

 

7. c is always, the power 1 cannot-not be 

 

 

8. Everything be Energy (E) 

 

 

9. I exist, aware 

 

 

10. The Points of Propagation are (1, 1) and (1, 1) 

and (1, 1) 

 

 

11. The Limit 1 

 

 

12. The Great Constant 

 

1 1 1 = ∞  

1 1 1 
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+1+1+1  

 

 

+1(+1)(+1) = c3 = 13 = 3 Time 1 = 3  

 

 

+11 +11 +11 

 

 

+11 +11 +11  

+11 +11 +11  

 

 

+11+11+11  

- 1 - 1 - 1 

    1    1   1                          c cannot-not be, the power of 1 is c 

 

 

The Whole Time ever being (existent) is The Great Constant 

 

1 1 1 = ∞  

1 1 1 
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+1(+1)(+1) 

       3 

    1 = 1 

       1 

    1 1 1                     (1, 1) and (1, 1) and (1, 1)                          I 

    1 1 1 

       1 

    1 = 1 

       3 

+1(+1)(+1) 

 

                                         + 1 + 1 + 1 

+1(+1)(+1)           =               1(1)2                =               +m(+c)(+c) 

       3                    =                   1                  =                        c 

       3                                         1                                             c 

       1                                         =                                             c 

    1 1 1                 =              12 U 12              =                     c c c 

    1 1 1                                    {1}                                         c c c 

       1                                         =                                             c 

       3                                      1 =  1                                         c 

       3                     =                      1              =                         c 

+1(+1)(+1)            =                  13                 =               +m(+c)(+c)                                                                           

                                            + 1 + 1 + 1                                 
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                                                                                The Point   

                                                                                

                                                                                      is 

 

                                                                          Self-Propagation 

 

 

1 

 

1 = 1 

 

1 = 1     12 = 12      (1, 1) and (1, 1)  

1    1  

 

+1(+1) = +1(+1)      1 + 1 = 1 + 1      2 = 2                        2 = 2      4 = 4 

                                        {4}                  {2}                          2    2       {4} 

                                                                                            {1 = 1}  

+1(+1) = +1(+1)                                                                    {1} 

                                                                                                              {1} 

+1(+1)(+1) = +1(+1)(+1)       1 + 1 + 1 = 1 + 1 + 1         [ 3 = 3     3 = 3    32 = 32 ]        9 = 9         9 = 9  

       {13}                {13}          { 1 + 1 + 1 = 1 + 1 + 1 }           {3}       3    3       {9}                {9}           9    9 

                                                 1 + 1 + 1    1 + 1 + 1                        {1 = 1}                                        {1 = 1} 

1(1)2 = 1(1)2                                      {1 = 1}                                        {1}                                              {1} 

                                                             1    1                                      {1 = 1} 

                                                           {1 = 1}                       [ 3 = 3     3 = 3    32 = 32 ]             

1(1)2 = 1(1)2                                         {1}                               {3}      3    3       {9} 

1(1)2    1(1)2                                                                                          {1} 

 

1 = 1  

1    1 

 

1 = 1 

 

1        

 

 


